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(General Science and Technology)

fAaffa a97 : &7 ave] 3 [ Qo - 200

Time allowed : Three Hours| [Maximum Marks : 200
: - i -1/Part—-1 p

% - 30 , Marks — 30

dee w18 e E | e s & | e e 3 o 02 i P

# | (FE i : 20 7=
Note: There are 15 questions in this part. All questions are compulsory. Each
question carries 02 marks. (Answer Limit : 20 words)

1. e ot w2 & 7 9% Ui &1 Jeotd Hifa | (3 = : 20 775

What are electromagnetic waves ? Mention their properties.
[Answer Limit : 20 words]

afirshy e v Ty weoa | faig il | (3 &1 : 20 915

Differentiate between nuclear fission and nuclear fusion. [Answer Limit : 20 words]

b2

3, dl % Y8 A T ATY & WHTE &1 FRATEC | [3 HimT - 20 W7
Explain the effect of temperature on surface tension of liquids.
[Answer Limit : 20 words]

4. e Dt woredt % A %1 Ieera I | (v &taT ; 20 7]
Mention the applications of Global Positioning System (G.P.8.).
[Answer Limit : 20 words]

5. e 1 aftwifya HifT au 36 wEe w1 Ieerd Hiae | [ & : 20 9]

Define watershed and mention its importance.
[Answer Limit : 20 words]

6. ‘Havvee e’ & Aty F R 7 (3o T : 20 &)
What is the concept of ‘Biosphere Reserve’ 7 [Answer Limit : 20 words]
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7. wiaten-fasm & e F1 w9 | pmwﬁm:zoiu:l

Explain the importance of immunology. [Answer Limit : 20 words]
g, wfwa wiwen us Frsfa wiwen # s x| (3 | : 20 weg]

Explain the difference between active and passive immunity.
[Answer Limit : 20 words]

9. e ufwees = & 7 faedl = afrer & Am fafew | [37 HTET : 20 WeE)
What are food preservatives ? Name any four preservatives.[Answer Limit : 20 words]
10. Tefrea weagzr i fadeen s = Ieera Hif | (3o : 20 weg)
Mention the features of digital computers. [Answer Limit : 20 words)

- ‘( 3
11, IOEVES % 66 &3 F1 TR -saeee & "iga e T R 7 (3o i ; 20 9eg)
Which area of Uttarakhand has been declared as Eco-Sensitive zone ?
[Answer Limit : 20 words]

12. o faes w1 # 7 395 HEwl #1 I01@ T | (3 ;20 R

What are molecular markers ? Mention their significance. [Answer Limit : 20 words]

13, afeaEE @ w=a s afE ¥ g s s it | [ Hiw : 20 975G
Indicate the main difference between exocrine and endocrine glands.

[Answer Limit : 20 words]

14, §-e e e 2ren SR el 7E ', §6 YA o wwierE S | (ST : 20 ve)
‘E-mail is not a real time communication system’, comment on this statement.
[Answer Limit : 20 words]

15. e (TRIPS) sl & uet fagra wn & 7 [ =i : 20 91
What are the basic principles of TRIPS Agreement ? [Answer Limit : 20 words]

w2/ Part -2 \
3% - 50 Marks — 50
de: z@amE e 10 A £ | woft we sifEr # | e s % o 08 3
fauifa # | (3o i ; 50 91=)

Note : There are 10 questions in this part. All questions are compulsory. Each
question carries 05 marks. (Answer Limit : 50 words)

16, Bzt 6 feafa % IR vrgE @1 aiie FA | FETPRE oA feof

fafau | (3o & : 50 wez)
Classify the chromosomes on the basis of position of Centromere. Write brief
note on giant chromosomes. [Answer Limit ;: 50 words]
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17. WymiEEE] & arel gl an Al au 39 e v 6 ST Hi |
[ Hm : 50 7TE2)
Describe any four diseases of honey-bees and their main symptoms.
\ [Answer Limit : 50 words]
18, drerergel HHN FY1 AA-aroeTse AAi § w0 A E 7 (3T #fim : 50 vrez)
Write the differences between volatile memory and non-volatile memory. .
[Answer Limit : 50 words)
19, INEUE g TS FTE SfATEA a (wa. 2 AU, ) F vy w4 6 ot @
T e WAt aw & fog @ g ® 7 [37 7 : 50 ¥Te2)
When was Stafe Disaster Response Force (S.D.R.F.) established by Uttarakhand
and who is respopsible for State Disaster Response Force 7 [Answer Limit : 50 words]
20. fewrem &3 i yEaem vd feaeae & W@ S0 =1 # 7 3 Jeo HiA |
‘ [3T = : 50 72
What are the main reasons of land slides and avalanches in the Himalayan region ?
Mention them, [Answer Limit : 50 words]
21, FTS 934 % BTE & HRU H1 Ieci@ iy | [3¥ HiHT : 50 91%2)
Mention the causes of Ozone layer depletion. [Answer Limit : 50 words]
22, Iengve § meferdi i gava 9 wenfeai @ faeo ffem | (I =T ; 50 1=
Give an account of cultivable species of fishes in Uttarakhand. 3
[Answer Limit : 50 words]
23, @ @qg O-Fiifem (0-) F wEl gm Hit aw = AW A 2 7§ SR
ATy | (3w &t | 50 =g
Why is blood group O-negative (O7) considered as the universal donor ? Give the
reason for it. [Answer Limit : 50 words]
24, N §e ) wrEfafa H wEEEy | ' (3R H1a : 50 vz
Explain the working mechanism of Solar Cell. [Answer Limit : 50 words]
25, FEE Wone! # a1 wrafE & =i i saren Hifa | (3w Hiw - 50 =)
Explain the steps of data processing in Computer System. [Answer Limit : 50 words]
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HT—-3/Part-3
3% — 40 Marks — 40
M WU AT 07 3 & | anadf o 05wl 1 I E ) g v H
form 08 31 fauffea & | (e o - 125 wr=g)
Note: There are 07 questions in this part. Candidate should attempt any 05
questions. Each question carries 08 marks. (Answer Limit : 125 words)

26. RIS i TS 91 FEeh giter i fafy augs | (3 T : 125 W
Explain the structure of glucose’, and its method of testing. [Answer Limit : 125 words]
27. TP g orEE A S & 32T 1 vl i | [T HiwT : 125 9152

Describe the objectives of National Air Quality Monitoring Programme.
[Answer Limit : 125 words]

28, 5-Td & Yo vF et @ wif faao A | (e ; 125 9]
Give a brief account of types and advantages of bio-fertilizers.
[Answer Limit : 125 words]

29, Tl UE IR i o Wy e A a7 (35 &m0 : 125 9
What are the basic differences between Rural and Urban planning ?
[Answer Limit : 125 words]

30. IHIYE FEYA 5 Ud 30 T4l i FHLAET | (3o Eta ;125 91

Explain disaster management cycles and its components. [Answer Limit : 125 words]

31, AreaIeTo @1 HY vE SuTer & & A A e | [z e 125 v

Discuss the applications of nanotechnology in the field of agriculture and animal

husbandry. [Answer Limit ;: 125 words]
32, ‘angEfiE- it | s wn guga € 7 39 SyEn ® Ieeia Hifau |
[ 9T ; 125 9

What do you understand by *Genetic-Engineering’ ? Mention its applications.
[Answer Limit : 125 words]
-4/ Part -4 :
3% - 80 Marks — 80
Me: Wy A FA 07 WA # |- 3vaedff Bl 05 wwEi # 3w E | wRw o F fa
16 3 fauffa & | (39 dm : 250 9r=2)

Note : There are 07 questions in this part. Candidate should attempt any 05
questions. Each question carries 16 marks. (Answer Limit : 250 words)

33. #tfes worg AfYen (A 3m.) & a9 w1 weeA # 7 Se-rafe) § a7 w5

HEE & 7 (3 #imT ; 250 v7=2)
What do you understand by Intellectual Property Right (IPR) ? Why it is
important in biotechnology ? [Answer Limit : 250 words]
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34.

35.

36.

37.

38.

39.

T T Ffafram, 1980 F1 geg favmmnstt i st Hifse | (3 #i ;250 7Teg)
Discuss the main features of Forest Conservation Act, 1980.
[Answer Limit ; 250 words]

‘et famm qen Wenfiehl’ & &= o wra ) Iyafeud) %1 9vi Fitau |
(3w #ftay : 250 =)

Discuss India’s achievements in the field of ‘Space Science and Technology’.
[Answer Limit : 250 words)

w1 - <t fafir fafbat = aofs Hifs ) (I i ; 250 9155

Describe the various methods of water-purification. [Answer Limit : 250 words]

nmap-m%mmﬁﬁi 7 s Fafor &3 o e 2 ?H%izm’rrﬁ

=1 == Hifa | [T &ta ; 250 v7eg]
What are n-type and p-type semiconductors ? How are they prepared ? Discuss
their uses. [Answer Limit : 250 words]

FEMTEE TEa™ 3R g @ A1 T wawd # 7 fafus e f aamts gen
%1 HEY § AU | FTEHTE g el & S w) getag ot Hif |

(37 Him 2 250 9%
What do you understand by biometric identification and authentication ? Explain

in brief the different types of biometric security. Also list the applications of
biometric security system. [Answer Limit : 250 words]

(a) AEAH-6 YT AIAH 6, 6%mﬁmmﬁaﬁaﬁrﬁmﬁm

Ier@ Hif | (3R e - 125 7=z

Explain the synthesis of Nylon-6 and Nylon 6, 6 and mention their
applications. [Answer Limit : 125 words]

(b) E-wiwd = wgE 2 & fo wedditem #1 3wEm @ e v @ 7w
ST HIFAT | [FE Him 125 =)
How is multimedia used to promote e-commerce ? Discuss it.

[Answer Limit : 125 words]
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AW N UE IAER-I
(General Aptitude and Ethics)

Buifa wwa : di7 w0d) 3 [ qoe - 200
Time allowed : Three Hours| [Maximum Marks : 200
Wi —-1/Part-1

;.  wymdwa 1syE ol v sfEd § | v v & g 02 o fuffa #
Note:  There dre 15 questions in this part. All questions are compulsory. Each question carries
02 marks.

I, gt st 6 o & vt wen i St e w1, 30, 38, 40 # fnfaw =1 oAy
29 EEmR
Find the smallest number of 5 digits which divided by 15, 30, 38, 40 respectively always leaves
2 as remainder.

P2

NN

3. UmERH 4@, S wien o3 el e | 3l e 1 o i) e e P & sy 2wl
it | Freft g Prarert & silrerard & | 7@ x + y %1 ¥ W9 A | (77 2z Pt whE )

A box contains 4 red, 5 black and 3 blue balls. Let x be the probability 1o draw | red and | blue
balls and y be the probability to draw 2 black and | blue ball. Find the value of x + y ? (Balls are
drawn at random.)

2. WA WA/ Find the value : (sif/’fr (ﬁi

4. T A 3 B2 =Es g § lﬂﬂP(A)=%3ﬂ'{P(B)=%.’ﬂ'P(AuB)HﬂWRm@Fn?

Let A and B be two independent events. If P(A) =%and P(B)= '}, then what is the value of P (AW B) ?

5. A% U W@ & 5% weran s & Ak 6 10% wgrn W R & 9w v, ge s | e
st &t 71 941 2

If a number is decreased by 3% and then increased by 10%, then how much in percentage the
obtained number is increased or decreased from the original number ?

6. afe & gl RY Fide SO ST H A 24 W # 7 700 8 e R 9w @ 6 %W RY%
feereft #0fi 7

If a certain sum of money becomes 7 times at the simple interest rate of R% p.a. in 24 years then
what is the rate of interest R% ?
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7. v.assm:tﬂt|5.oooifwgu=hmmtaﬁzmmamaﬂtzo,oooihtmtwum
ame, a7 o 36 @ 2 35,000 # wveEn & 3k 2 40,000 3 ¥ Fa R | A1 -3 T IW Fmef
%1 g farer wfermra o fireran @ 2
A man buys an old car for ¥ 15,000 and after one year sells it for T 20,000, After six months,
againheh:ysthessmecarad35.000andscl!sit‘for!40.000.Wlutisthcovemllpmﬁtpemm
for that man over both the transactions ?

8. Mt&m:ﬁz%wmmi%mmtlwmmmzﬁeéwﬁzﬁ .
yi\mmt|wméﬁﬂa:mm,wm=ﬁngm%l(zxuy)wmmt?
AmunberxismuhipliedbyZm& then mbuwcd%fmm it. The resulting number so obtained is
multiplied by 6 and then a number y is added to it. Finally, obtained number is 11 times of the
original number x. What is the value of (2x + 2y) ?

9. wm@%mﬁmﬁmﬂmmm,sﬁ.ﬂmm@rqashtssxaﬁth.
Erhet AT FgE & st & 4m S T R | :

Find the length of diameter of a circular ground whose area is equal to the sum of the areas of a
circle with radius 8 m and a triangle with area of 36 n sq.m,

10, Ers-sEd | vt & e 6 fadem Hife | (3 di ; 20 e
Discuss the importance of *Integrity” in Civil Administration.

' [Answer Limit : 20 words]

11, v EmeA & i B g s e # 7 ; (3 T ; 20 YEE)
What are the benefits of having a Citizen’s Charter in an organization 7

[Answer Limit : 20 words]

12, wfigfa @ smuwn aaga 8 7 [ & 20 Vg
What do you understand by attitude ? [Answer Limit : 20 words]

(3. Wifee % e v T § = A e it 7 (3 | : 20 )
According to Kautilya, what should be the ethical qualities of a King ?

[Answer Limit : 20 words]
|4, ErE-yeEe § g % T w4y | (3w = ;20 =)
State impact of ‘empathy” in civil administration. . [Answer Limit : 20 words]

15, WTE WA ® Y FIEIHAE 7 (3w | : 20 Wez)
What do you mean by disaster management ? [Answer Limit : 20 words]

qrr-2/Part-2

- 50 Marks - 50
. smwmA e 0wEE | ah e star | e v R os o Fuffa o
Note:  There are 10 questions in this part. All questions are compulsory. Each question carries

05 marks. ”

16, AT @ P wam wie daw 6wt s gt w5 e esa @ 7 3
wa At | (3o | ; 50 975
Can the ‘Niskama Karma Yoga' of Bhagavadgita resolve all the ethical dilemmas of civil servants ?
Comment, [Answer Limit : 50 words]
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17.

19.

20,

2%

24.

At wniestes & =0 # ‘siaoen’ & favg 8 == Hifww ) (37 a7 : 50 W=
Discuss about ‘conscience’ as source of ethical guidance. [Answer Limit : 50 words]

=T e % TE- U e e 6 st S | [t 4 ; 50 ]
Discuss Swami Vivekananda's contribution regarding national integration.
[Answer Limit ; 50 words]

T & sfber srfufam 6 ger e s ot 39% regm @ 999 & T e 0E
I | (37 i : 50 W)
State the salient features of RTI Act and suggest some safety measures t0 avoid its misuse.

[Answer Limit : 50 words]

A ARer =i Avd B i mm s o f, S A U B H A R @
wfirman TR FeEd w1 # 7

For any two arbitrar$ sets A and B containing § and 6 elements respectively, what are the possible
minimum and maximum numbers of elementsin A UB ?

a3 5 5 g (3, 4) e (1, 1) & | e i frg i s i e |

The end points of a diagonal of & square are (3, 4) and (1, ~1). Findthceoordmofthe
remaining angular points,

w witen # fEd, it afv firs fonrt & qortes 2w 120, 140 30100 § | o o 9 freat
FHA: 40%, 55% W 45% 3 WA T # | 7% faww fawa, fams quis 180 35 &, & feedt 3ie
TR o fo w Fawd] 8 sTRTeRT W S Wi 60% § W |

In an examination of Hindi, English and Mathematics subjects, the total marks are 120, 140 and
100 respectively. A student gets 40%, 55% and 45% marks in these subjects respectively. How
many marks should he get in the Science subject out of the total 180 marks in it so that his
combined percentage of marks obtained in all the four subjects becomes 60% 7

FTTE WHST 57, 110, 112, 114, x, 118, 120, y W fmm =1 | 3fe wtest @1 o s ofoym
FH: 108.5 3 114.5 § o4 y — x 7 5 #41 §0 2

Consider an ascending data 57, 110, 112, 114, x, 118, 120, y. If the mean and median of the data
are 108.5 and 114.5 respectively, then what is the value of y —x ?

WA ABCD % #1= vl % Faws A2, 3), B(3, 0) @ €9, 2) # | 35w &1 dawe i Ry BD
1 erearé 3w g |

The coordinates of three vertices of a rectangle ABCD are A(2, 3), B(3, 0) and C(9, 2). Find the
area of the rectangle and length of the diagonal BD.

A et wrd &1 15 fom 1 qo = R, B 3% % %1 8 fam o e 2 s B otk ¢ e st @R
Fafmiwad M&Amcmﬁxﬁ?imisﬂmmsyf&ﬁmt m-mm

&1 W 2

A completes & work in 15 days, B completes the same work in 8 days while B and C jointly
complete the work in 4 days. If A and C jointly complete the work in x days and A and B in y

days, then what is the value of i ?
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HT-3/Part-3

Ae:  wEwmE e o7 v Eaw 2 @ve # | mus-1 F o4 v § & 5 03 vl ud mvs-2
%F 03 wrAl # A foedl 02 woet & 3w fomn s sifard 8 | vl e & T 08 3
fruffa & |

Note:  There are 07 questions and 2 sections in this part. It is compulsory to answer any three
questions out of four selected from Section-1 and any two gquestions out of three
selected from Section-2. Each question carries 08 marks.

Marks - 40

€ “l /SR(M°|
TR AT9ERT / General Aptitude

26. 2 uithia st A U6 B 8§ w69 m 3N 0 o § | 90T A & Ivagwdl f 56 66 5= B 6
IUEE] et HE A 56 HER R | (m + n)¥H TR A Hifw
Two finite sets A and B have m and n elements respectively. The total number ofsubscts of the
set A is 56 more than the total number of subsets of the set B, Find the value of (m + n)".

27 fER A0, 4), B(1, 3)TE C(6, 0) g ABC'S ¥ farg # 1 farg D T AC #1 13 % 3w #
w: fafors o 2 | g D % ST o fgw ABD 3 @ =1 Pngwt ABC & #wa A
3TA T i |
Points A(0, 4), B(1, 3) and C(6, 0) are the vertices of the trinngle ABC. Point D divides the line
segment AC in the ratio 1:3. Find the coordinates of the point D and the ratio of the area of
trinngle ABD to the area of the triangle ABC.

28.  Frafafea miwo & « vd y & 99 7@ it .
2-+—3—-=-l— m—l-+-3—=—l
¥ BN 3x 4y
Find the values of xandy from the following equations :

2 3] 3
—+—-—and-—-+-—=-l
x 2y 6 3x 4y

29, U QAU 15,02,000 F A, BUE C HFAA: § ;7 8 .39 F wter w4 | A+ 3 0= 9=
W1 HIYT TR T FA; 4%, 3% HK 6% F TiffE [ A AW 297, 3 79 o 5 wE & o s
# o w0 fean 1w A st C g i amaron s e |
An amount of T 15,02,000 was divided amongst A, B and C in the ratio 5 : 7 : 8 respectively. All
the three deposit their amounts in a bank with simple annual interest rates of 4%, 3% and 6% for
2 years, 3 years and 3 years respectively. Find the simple interests obtained by A and C.

|vE-2 / Section-2
HTEOT-90% / Ethics

30.  FOW WRG WA & Fgd § GG & T 1 9 e | (3o Him - 125 eR)

Describe the significance of transparency in the context of administration in the present times.
[Answer Limit : 125 words]

31, HAMETE g W1 AT aigs 3 FEA IO+ Ieerg i | (e € ;125 veg)
State the meaning of ‘emotional intelligence’ and point out its utility. [Answer Limit : 125 words)
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32, R o AT E ST gosal () w1 # 7 39 Iere wfed seoe Hif |

[ &t ;125 veE)
According to Gandhiji, what are the seven social sins ? [llustrate them.  [Answer Limit : 125 words]

Wi -4/ Part—4
3 - 80 Marks — 80
. wumAFA oy faw 2 wve | @vE -1 % 04 weE § F R 03 W a2 &
03 ot 1 & gt 02 WAl @1 I fom s wfard & | wes v & fo 16 W fffa # )

Note:  There are 07 questions and 2 sections in this part. It is compulsory to answer any three
questions out of four selected from Section-1 and any two questions out of three
selected from Section-2. Each question carries 16 marks.

t Qg -1 / Section-1
AW AR / General Aptitude

33, A S A, B 3 C U T Y - A 24, 36 3R 48 P # o e £ 1 3R & A
T EIY W EE TE FE § 3l C, 4 R A wm e we wem # ol A wm o e A 3 few
&S FIW BT 2 & A g s e Em d @ a o

Three men A, B and C can individually do a work in 24, 36 and 48 days respectively. They start
working together but C left the work after 4 days and A left the work 3 days before completion of
the work. In how many days the work will be completed ?

34, U e U g (A ) W 1254% T W T 20,475 e R AU a7 0 WA BT 1,456
6 oft | d=m 2 | o A o TEe w1 FA g SO R @ R FREn o a1 wi
stferararan a i |

A man sclls a TV at the profit of 12%4% in T 20475, Also he sells a mobile phone at the loss of
T 1,456. If the cost price of the TV and mobile is same, then find the total percentage of loss or
profit in this business.

35, Frefefes sies o et -
w1 3@ | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80 | 80-90 90-100
L1 it 5 10 15 X 22 10 y 8 3 4

x AYT y F1 WA WA A afe e 45, AT w1 @ 4 N = 100 3w i 6

40-50 & | g 1 wger oft 7 i |

Consider the following data :

Class Interval | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80 | 80-90 | 9¢-100
Frequency | 5 | 10 | 15 x | 2| 10| y 8 3 4

Find the values of x and y, if the median is 43, total sum of frequencies N = 100 and median class
is 40-30. Also find the mode of the data.

36, UF AN B ST 124% $ a1 ShgTe ST o § IUW I R | 98 6 i ww v §
TTYE WTH ST R | WA TR T 01,854 @ R | IHe g0 e = it wn wa ifaw )

A person lends some money at 12%% annual rate of compound interest. If he gets the amount
retumed in three equal installments each of ¥ 91,854, find the amount of interest earned by him.
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37.

38,

39.

EUS -2 / Section-2
HTER~-TH / Ethics

afe ! wie daw) 2y A sren-wfie’ il s @, @ o fe o s ged w
wrefiramen Z1 =@ 7 [Ze e - 250 v
If you have to prepare a ‘code of ethics’ for the civil servants, which five fundamental values will
you want to prioritize 7 [Answer Limit ;: 250 words]
Freferfaa wew =) grEurgEs vige 7ar = g me wwEt & e i

Y A FCRT HrEteE & sveas § | S0 SR F e g O e gida , e
for syt fageiusn fear wan R | 3R wwE AEes w9 bt A us el e R ol R
ardatae oft = faay man B | s Frelt wfe, S snes sreE w0 #, e @ 3T # S aen
£ T 3% fren oft i = @ s # it su fo s 3 o wafrea faerd ey | s
afaEEE 3 39 TAEE @ Wi il 3N 35 w1 fawmen 7 e ge ans s e

- 7% g T T wiewan Pramrage €1 | 9y 393 Froft sl e sl s ama & |

2] 7 7T T HOT 7

(a) 79 38 39 FHL A gendh i 3N waAdn o e w6t T 8w #
(b) 5! oy wra & forg 38 v armafed AT |

(¢) 3179 FTaTerdl SREAT 1 FHIEA & T8 FATHI (o 379 F§ SRR T F@ |

(d) I TEG T (IR ) G TH T o1 3R B8 ey wifa @ w01 | (I Hw ;250 Weg)
Study the following case carefully and answer the questions that follow :

You are the head of your Government office. There are certain houses reserved for the allotment

to the officials and you have been given the discretion to do so. A set of rules for the allotment of

the houses has been laid down by you and has been made public. Your personal secretary, who is
very close to you, comes to you and pleads that as his father is seriously ill, he should be given
priority in allotment of a house. The office secretariat that examined the request as per the rules
turn down the request and recommends the procedure to be followed according to the rules, You

do not want 1o annoy your personal secretary.

In such circumstances, what would you do ?

(a) Call him over to your room and personally explain why the allotment cannot be done.

(b) Allot the house to him 10 win his loyalty.

(c) Approve the office-note to show that you do not indulge in favouritism.

(d) Keep the file with you and not pass any orders. [Answer Limit : 250 words]

mmﬁwmmﬁmWﬁtmw:

Y UF U Wege-giia % wwEw § | 39 o e wm A, e s w feerd
Sfv it § v W e R, fg o i ot § o P amg dm w5 ofe & seoe @
R AR |

oA aftfRufEat F s w6 7

(a) 5% fovg =g wfafa @ wadeo =i |

(b) Faerdt & vz amw w0 & fom w81 |

(c) fammdt & swem g e mmm-uaﬁtﬁ |

(d) wfufa & sl & 37 faam i |

Study the following case carefully and answer the questions that follow :
You are a Chairperson of a State Sports Committee. You have received a complaint and later it
was found that an Athlete in junior age category, who has won a medal, has crossed the age
criteria by five days.

In such circumstances, what would you do ?

(a) Ask the screening committee for a clarification.

(b) Ask the athlete to return the medal.

(¢) Ask the athlete to get an affidavit from the court declaring his/her age.

(d) Take the opinion of the members of the committee, [Answer Limit : 250 words]

(S &t ; 250 g
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